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2. Evaluate the integrals.
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3. Evaluate the integrals. U= In (Sx ) d
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4. Find the volume of the solid generated when the region bounded by y = cos x and the x-axis on the interval
[0. 5] is revolved about the y-axis.
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5. Find the area of the region bounded by the curves y = sin(x) and y = sin~}(x) on the interval [0, ].
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6. Evaluate the integrals.
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7. Evaluate the integrals. let u = cor(x)
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8. Evaluate the integrals.
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10. Evaluate the integrals. j 2= 3ccd = | = S
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“11. Write the appropriate form of the partial fraction decomposition for each of the following functions. Do not
solve for the unknown constants.
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12. Evaluate the integrals.
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